PRACTICE QUESTIONS FOR COMPETITIVE EXAMINATIONS

SUB: MATHEMATICS

TOPIC 4: AREA UNDER THE CURVE

1. The area of the region bounded by the curves v = | x - 2| ,x =1, x =3 and the x-axis is
(M) 3 B 2 i1 o 4
2. The area enclosed between the curve v ]cg'[x t &) and the coordinate axes is
() & B 3 ic) 2 o1
3. The area of the figure bounded by the curves v = frix & v = (fmd” is
A e+l Be-1 ) 3-e o1
4. Suppose v = f{x) and v = glx) are two mctions whose grahps infersect at three points (0, 4), (2, 2) and @, 0) with
feh > o) for O < x < 2 and fx) < ofx) for 2 < x < 4.
4 4
It -F[il:x:l—gl:x:lld.}{ =10 and j[gl::-;:l—il:x:lldx =5, the area between two omves for 0 < x < 2] s
o 2
() 5 B 10 () 15 D) 20
5. The area bounded by the curves v ~|'I—x and x v where x, v 20
(A} cannot be determined B is 173 £} is 2/3
() is same as that of the figure bounded by the amves v = of—x ;xZ0and x = f—y ;v 20
6. The area of the cosed fiqure bounded by v = =, v = —x & the tangent to the amve v qllxz—ﬁ at the point (3, 2)
is
i 5
A5 B 245 @ 10 o 5
7. The area of the region(s) enclosed by the curves v = %™ and v = o] x| is
(A 17 B) 23 ) 15 1
8. The area bounded by the curve v = xe™ ; xy = 0 and x = ¢, where ¢ s the x-coondinate of the amre's mflection
point, i=
(A 1 - 3e* B) 1- 2 c1-e* 1
3x 3x
o. The area enclosed by the amves vy = cos x, v = 1 + sin?x and x ?ES}{L'HT]E‘SiTGthﬂ?:'iS
" ® 5 @2+ o1+
10. The area endosed by the curve v* + x? = x% is
z a o8 10
® 3 ® © 3 © 3
1
11. Consider two curves C] vy = — and (32 :y = ¥nx on the xy plane. Let []] denotes the region surrcunded by
kS
€, G and the fine x = 1 and [, denctes the region swmounded by C), C, and the line x = a B 1) = [, then the
vahse of &'
e
[NE (B) e 0 e-1 D) 2e - 1)
12. The area of the region for which 0 < ¢ <3 - 2x —»® & x>0
3 3 1 ]
T Ifﬂ—ﬂx—xz]dx B I[S—Ex—xz:lr]x i) .F{S—Ex—leu:lx 0] I[S—?x—xg:ldx
1 o o 1
13. The area bounded by the curves v = x(l - fmx) and positive x-axis between x = ¢’ and x = e is




" [132—-19_2} [.E‘E —513_2.] C [-"]132 —13_2] - [.5-32—13_2:]
W B @i o) |~
14. The curve fix) = fx® + Bx + C passes through the point {1, 3) and line 4x + v = 8 is tangent to it at the point

(2, 0). The area enclosed by v = H{x), the tangent line and the vaxis is
{A) 473 (B) 873 {C) 1673 (D) 3273

15. Let v = glx) be the inverse of a bijective mapping { : B = Rix) = 3x® + 2x. The area bounded by graph of
ofx), the x-axis and the ordinate at x = 5 is
5 7 o 13
) — — 0 — ) —
(A i () 7 L8 a (o 3
dy
16. A fhunction v = f(x) satislies the differential equation, G Yo oosx sin x, with initial condition that v is
boumded when x — o0, The area enclosed by v = ffx), v = cosx and the vaxds in the 1% guadrant is
1
A 1 F ) 1 ) =
A ¥z (B 2 (© 0 7
17. Let'a' be a positive constant mumber. Corsider two ourves C:1 sy=¢, C :y=¢e""" Lat 5 be the area of the
part awrounding by C,, C, and the y-axis, then B
N s 1
@ Lms =1 ® uns=g
{i2) Range of 5 s |0, I Sa) is neither odd nor even
18. Area enclosed by the curve v = sinx bebween x =2nx to x = 2ntl)x is
2x 1 4 x/E
(A Isin wdx (B QIsinxrlx a4 I sin x dx o) 4
] o o
19. Hi{a O) & (b0) [a,b > 0] are the points where the curve v = sindx -uEsiru{ cuts the positive x-axis first &
secord time, A & B are the areas bounded by the cmrve & positive x-ads between »=0 to x=a and x = a to x=b
respectively, then
(A) 4A + B cosa =T (B) AB =% () a4A + 4B + ldeosh =0 (D) B - A = deos a
20. For which of the tollowing valies of m, is the area of the region bounded by the curve v = x x* and the
line v = mx equals o 92 7
i B -2 i) 2 i) 4
Que. 1 2 3 4 5 6 7 8 9 10 |
Ans. D C A B A c B
Que. 11 12 13 14 15 16 17 18 19 20 |
Ans. B C B B D A ABCD|BCD (ABCD| B,D







